S BYBHD
3 di=4E2 UWIIE A
&l =EAUIIEMNA CEREE)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
2 10,439,842 12,147,906 21,708,064
= 4,687,960
T 2,378,780
Al 3,373,102
Si=22 UOIE e 9,846,980 11,453,410 A 1,606,430
= 4,684,960
T 2,378,780
Al 2,783,240
=18 DIE<P) Fu 9,218,380 11,167,090 21,948,710
= 4,614,960
= 2,283,780
Al 2,319,640
S = HEA M2 A 35,860 9,787,290 A9,751,430
201 &er=gll 9,050 8,950 100
02 3234l 9,050 8,950 100
OSZIFANSI SALUEE OXA MELS
R 7,350
— XA QI M 1002 *21,000 2,100
SEI(LE) 2503 *21,00021 5,250
OUJILE =334l d=ZAHl 1,700,000 1,700
401 AlZHIZL SO 22,010 0 22,010
01 Al&HI 22,010 0 22,010
ONSA S=2/d MetAs HAe &1
310,000& +71H 22,010
402 212t X201 4,800 9,778,340 A9,773,540
02 QIZtTHAAISH 4,800 0 4,800
OXJIHA Ex= NG e ===
6,000 *800CH 4,800
HAMAHA B 25 1,147,000 1,258,000 A111,000
= 573,500
S 286,750
Al 286,750
402 22tH=01H 1,147,000 1,258,000 A111,000
= 573,500
S 286,750
Al 286,750
01 QI2tA=E X 1,147,000 1,258,000 A111,000
O&EGINA HA B 18,500,000 «62LH 1,147,000
= 573,500
= 286,750
Al 286,750
ESEatalis =-PN R Ears) 110,600 121,800 A11,200
= 79,000
= 15,800
Al 15,800
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A SHEEHW
S dAZF=FCS WIIE e
&l =EAUIIEMNA CEREE)
= = — AN L=
SA - HH SR (B) - MRAY - BAS il &t e imE=T
402 QIREXHEOIH 110,600 121,800 211,200
= 79,000
L= 15,800
Al 15,800
01 2I2tEEx 110,600 121,800 211,200
ONM=sAHU EXIA 110,600, 000& 110,600
= 79,000
= 15,800
Al 15,800
I MBSt AtY 7,814,200 0 7,814,200
= 3,907,100
= 1,953,550
Al 1,953,550
402 QI2EXHEOIH 7,814,200 0 7,814,200
= 3,907,100
& 1,953,550
Al 1,953,550
01 2I2tEEx 7,814,200 0 7,814,200
OSBRI HSItA M2 ALY
7,814,200,000& 7,814,200
= 3,907,100
= 1,953,550
Al 1,953,550
HHiE0tA MZEX 85 sAl22] 110,720 0 110,720
= 55,360
& 27,680
Al 27,680
402 QI2HXHE0IA 110,720 0 110,720
= 55,360
= 27,680
Al 27,680
01 SIZt=E2EX 110,720 0 110,720
OHiEtAs HZTEX 85 sA2el
110,720,000& 110,720
= 55,360
= 27,680
Al 27,680
HoIE=dL 2| 628,600 286,320 342,280
= 70,000
= 95,000
Al 463,600
o1y e 2| 63,000 63,000 0
201 LEt23H| 63,000 63,000 0
01 AtS2teltl 15,000 15,000 0
ofj|egdza AZ5 P
2,500,000 *6H 2~ 15,000
02 BS243| 48,000 48,000 0
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2A:

g ﬁ"gi#-’fﬂ tola JHe
Sl DIRY=TY e (S &)
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
Oofj|egdza szt
500,000& «6IH 2+ 123 36,000
OllegdZe MJ|g 2,000,000 690 2 12,000
oy =84 2el(=hl) 120,000 97,600 22,400
< 60,000
Al 60,000
201 LEr23H| 120,000 97,600 22,400
< 60,000
Al 60,000
02 S22l 120,000 97,600 22,400
OouIgE=d8% si2el 120,000,000& 120,000
< 60,000
Al 60,000
IISE=SZEH 2 305,600 125,720 179,880
201 LEr2H| 5,600 5,600 0
01 AtR2elt| 5,600 5,600 0
OZH=Z1aH 225 7& 600,000 600
OBAH=ITY| 2| Y 25 7Y
5,000,000& 5,000
401 Al&HIZL S0 300,000 120,120 179,880
01 Al&HI 300,000 120,120 179,880
Otd28d&E uH SA
300,000,000& * 190 2 300,000
WIeE=Ea WA 140,000 0 140,000
= 70,000
& 35,000
Al 35,000
401 Al&HIZL S0 140,000 0 140,000
= 70,000
= 35,000
Al 35,000
01 Al&dI 140,000 0 140,000
OUIILE=E A wi 140,000,000& 140,000
= 70,000
< 35,000
Al 35,000
ot =22F oY 146,402 270,856 N124,454
=HQHEA 2| 146,402 270,856 N124,454
= FL I 2e 146,402 270,856 N124,454
101 e1AH| 12,037 0 12,037
04 JIZtN22 RS2+ 12,037 0 12,037
OSRE0IME(EM) EEAMY 212 12,037
== 36,0002 1H 2402 8,640
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2A:

SHAE XN

I ol =228 WY
el SRR 22 (S &)
SA - BY . SAEH) - HRANY - B e HIDE2
—F5sE 36,0003 x 12«48 1,728
k= PNES 36,0002 x 1« 12& 432
—&HEE 10,800,000 %28/ 1,000 303
—IE=2E 10,800,00024%13/1,000 141
—=2ld=3 10,800, 000& %45/1,000 486
—AHEE 10,800,000 *26.65/1,000 288
— = ol&T] 287,280&*65.5/1,000 19
201 &er=gHl 44,640 43,750 890
01 AtR2tcIbl 22,740 21,850 890
ORSOIM=( 2 EEE MA 14,000
—EM BHES 1,0002+8,0000HK 8,000
M E22= 3002 +20,0000H 6,000
OEALHMEHIAL AIZ XHFHI
300,000 * 1094 2 3,000
OotdQE=E =5 HAME 150,000& %123 1,800
OWJILE=E =8 HAZ  200,000& %1074 2 2,000
ORS0IMS(EM) & MEg=I S22 SA
=g 70,0002 x2& 140
ORS0IM=(EM) t QIR I 7Y
100,000& x6% »32 1,800
02 3234l 21,900 21,900 0
OXtgR Al 11,900
— ALS Al 50,0002 =2CH 100
—NSiE 800,000 +2CH 1,600
—etFHA 100,000 *2CH 200
25 % 5,000, 000& »2CH 10,000
Orslld= g =8 2 sl
10,000, 0003 10,000
202 044l 2,400 2,400 0
01 =WHHI 2,400 2,400 0
OSoltHE A & USTUHEINL B oY
20,0002 *10& ~ 122 2,400
203 g4l 2,500 2,500 0
03 AIBFXYE =AY 2,500 2,500 0
OZEYR =& 2,500,000 2,500
206 T2 81,625 75,275 6,350
01 M4l 81,625 75,275 6,350
O+&8=sd 2 -
100,000 « 104k At 1,000
OFZ 2 HAS g 2 1,000,000 1,000
OS S0 HZ(EM) N EA= 7Y 71,700
—EM AN 90,0002 x56S 122 60,480
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A BPREEDY
B olE +EQY 0l
Sel: 2R el (cel:@e)
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
-g g 25,000 *28=+12& 8,400
-4 & 21,0002 102 +12& 2,520
=1 300,000 300
ORE0|IMS(EM) LEH EEE2 HEY 72 7,925
—3&(1.82/H) 33,0003 * 15044 At 4,950
— A8 (0.3521E) 42,500 *704¢ Xt 2,975
301 LEIE A= 3,200 1,700 1,500
12 JIEtE2 4= 3,200 1,700 1,500
Ostdegdll 24 200,000& 424 800
Ost3ZLIHRE &S| 30,000& *10€ *53] 1,500
OMNEE ARIZLIHRE &S|
30,0003 x5 +63] 900
AMRIEN & e 271,080 254,640 16,440
=2 3,000
Al 268,080
KoM 21a & 241,400 245,400 24,000
=2 3,000
Al 238,400
X =HSEEge &8s 5,400 5,400 0
201 e 5,400 5,400 0
02 SZ222H| 5,400 5,400 0
OXXIEH =HeZE=l 2|
5,400,000& %13 5,400
TFESH21 2HAS 230,000 230,000 0
307 21201 230,000 230,000 0
02 QIHAMEX 230,000 230,000 0
OFERF21 A =& 230,000, 000& 230,000
Jgleld gs K& 6,000 10,000 24,000
=2 3,000
Al 3,000
307 2I2+0I M 6,000 10,000 24,000
=2 3,000
Al 3,000
02 QB AE X 6,000 10,000 24,000
OJgeld 24 ¢ s X3 6,000,000 6,000
= 3,000
Al 3,000
AsIbse 28 AA 29,680 9,240 20,440
ARIEE &0 Es 29,680 9,240 20,440
201 Yereg| 7,180 6.740 440
01 AtR2elt| 3,560 3,120 440
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A SEEH
B HESAAY(BALHD)
chol: D= 2| (SHol: & 2)
SA I S(EH) - MRAY - By S 03l o8 e Bl RE2
01 2L 31,680 28,800 2,880
OYRF&II=04H] 120,000 x22H x12& 31,680
HREs (22 2H) 100,000 100,000 0
LHEHHK = 100,000 100,000 0
SFEMIIZ EH=S 100,000 100,000 0
2 JIsSHES 100,000 100,000 0
01 JI=sd&E= 100,000 100,000 0
OsZENIIZ E93 100,000,000& 100,000
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